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CUBE – ANGLES

TABLE–SELECTION GAME

Select one correct answer for each of the questions in the test and press the
Finish button at the end. The answers will be validated automatically.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



FINISHSCORE

The cube ABCDEFGH shown in the picture has edges of
length a. Find the angle between:
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GH

1. the lines BE and CH: 0◦45◦60◦90◦ 0◦45◦60◦90◦ 0◦45◦60◦90◦ 0◦45◦60◦90◦

2. the lines BE and BC : 30◦35.3◦45◦90◦ 30◦35.3◦45◦90◦ 30◦35.3◦45◦90◦ 30◦35.3◦45◦90◦

3. the lines BE and BG: 30◦45◦60◦90◦ 30◦45◦60◦90◦ 30◦45◦60◦90◦ 30◦45◦60◦90◦

4. the lines BE and FG: 30◦35.3◦90◦120◦ 30◦35.3◦90◦120◦ 30◦35.3◦90◦120◦ 30◦35.3◦90◦120◦

5. the line BE and the plane ADH: 30◦45◦60◦90◦ 30◦45◦60◦90◦ 30◦45◦60◦90◦ 30◦45◦60◦90◦

6. the line BE and the plane ABC : 35.3◦45◦60◦90◦ 35.3◦45◦60◦90◦ 35.3◦45◦60◦90◦ 35.3◦45◦60◦90◦

7. the line BE and the plane AFG: 0◦45◦60◦90◦ 0◦45◦60◦90◦ 0◦45◦60◦90◦ 0◦45◦60◦90◦

8. the line BE and the plane DBF : 30◦45◦60◦90◦ 30◦45◦60◦90◦ 30◦45◦60◦90◦ 30◦45◦60◦90◦



Good job, buddy!Super-duper!
That is what I call a fine job!

Awesome! Keep it up!Perfect, keep it up!Wait! Sheldon might get jealous!You made some mistakes,
but you still deserve praise.

Hermione’s top of the class title is almost on the
line.

You’re almost rocking.A small step remains,
next time will be glorious!

Good job, but you are no Einstein yet!Try again, practice makes perfect!All great scientists made some mistakes in their
life. Just like you.

It’s not bad, but you can do better!Making mistakes is better than faking perfection.Not great, not terrible.
You are somewhere in the middle.

Pity, you might need to practice more.Hey, it could be worse, right?You may not be a future Fields Medal laureate,
but you can do better on this test.

Are you keeping your energy for later?Keep trying. It will be better next time.Your math knowledge
is just like the square root of −1.

Most of your answers
were unfortunately like π — irrational.

You’ll be better next time.

What a calamity!This is like a foreign movie to you;
you still need subtitles.

Do you know that you have to click
on the right answer?

Correct answers:




